

TROY-SWANZEY/BROOKLINE-MILFORD

43063

PROJECT: STATE PROJECT NUMBER: FED. PROJECT NUMBER: DATE BIDS OPEN: SCOPE OF WORK: COMPLETION DATE: LOCATION:	TROY-SWANZEY/BROOKLINE-MILFORD 43063 X-A005(030) October 28, 2021, 2:00 Pavement preservation September 23, 2022 District 5, District 4, Cheshire, Hillsborough	Awarded To: Amount: Award Date:	CONTINENTAL PAVING IN 1 CONTINENTAL DRIVE LONDONDERRY, NH 0305 \$3,954,653.75	53	PETER.E.STAMNAS Director of Project Development	
	Summary of	Bidders				
Contractor					Bid Amount	Rank
CONTINENTAL PAVIN 1 CONTINENTAL D	G INC RIVE, LONDONDERRY NH 03053				\$3,954,653.75	A
ALL STATES CONSTR PO BOX 91, SUND					\$4,304,747.00	В





43063

X-A005(030)

				F	PS&E CONTINENTAL PAVING INC 1 CONTINENTAL DRIVE LONDONDERRY, NH 03063		ENTAL DRIVE	PO E	DNSTRUCTION INC BOX 91 IND, MA 01375
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

-		1	1						
202.7	REMOVAL OF GUARDRAIL	LF	6,000.00	\$2.40	\$14,400.00	\$4.75	\$28,500.00	\$3.00	\$18,000.00
203.5540	GUARDRAIL TAPERED RAIL PLATFORM	LF	130.00	\$50.00	\$6,500.00	\$85.00	\$11,050.00	\$50.00	\$6,500.00
203.5561	EAGRT PLATFORM PREFERRED	U	67.00	\$1,350.00	\$90,450.00	\$1,400.00	\$93,800.00	\$1,500.00	\$100,500.00
203.5571	EAGRT PLATFORM PREFERRED, TL 2 - 25'	U	4.00	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000.00
206.1	COMMON STRUCTURE EXCAVATION	СҮ	129.00	\$80.00	\$10,320.00	\$100.00	\$12,900.00	\$300.00	\$38,700.00
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	СҮ	5.00	\$80.00	\$400.00	\$500.00	\$2,500.00	\$100.00	\$500.00
304.301	CRUSHED GRAVEL	СҮ	50.00	\$70.00	\$3,500.00	\$50.00	\$2,500.00	\$75.00	\$3,750.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	2,690.00	\$25.00	\$67,250.00	\$25.00	\$67,250.00	\$32.00	\$86,080.00
403.11023	HBP-3/4" BINDER MIX, MACHINE METHOD	TON	870.00	\$75.00	\$65,250.00	\$80.00	\$69,600.00	\$85.00	\$73,950.00
403.11042	HBP-1/2" SURFACE MIX, MACHINE METHOD, QC/QA TIER 2	TON	9,200.00	\$70.00	\$644,000.00	\$80.00	\$736,000.00	\$85.00	\$782,000.00
403.11942	HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH, QC/QA TIER 2	TON	1,800.00	\$90.00	\$162,000.00	\$90.00	\$162,000.00	\$100.00	\$180,000.00
403.12	HBP-HAND METHOD	TON	333.00	\$170.00	\$56,610.00	\$130.00	\$43,290.00	\$225.00	\$74,925.00
403.16	PAVEMENT JOINT ADHESIVE	LF	93,100.00	\$0.25	\$23,275.00	\$0.26	\$24,206.00	\$0.25	\$23,275.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	11,000.00	\$2.15	\$23,650.00	\$2.50	\$27,500.00	\$4.00	\$44,000.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	14,000.00	\$4.40	\$61,600.00	\$5.00	\$70,000.00	\$5.00	\$70,000.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	7,300.00	\$80.00	\$584,000.00	\$80.00	\$584,000.00	\$87.00	\$635,100.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	41,000.00	\$2.25	\$92,250.00	\$2.50	\$102,500.00	\$3.75	\$153,750.00
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	7,300.00	\$2.50	\$18,250.00	\$2.00	\$14,600.00	\$4.00	\$29,200.00
417.54	REMOVE AND INLAY LONGITUDINAL CRACKS	LF	5,300.00	\$8.50	\$45,050.00	\$4.50	\$23,850.00	\$10.00	\$53,000.00
604.0007	POLYETHYLENE LINER	EA	64.00	\$135.00	\$8,640.00	\$135.00	\$8,640.00	\$135.00	\$8,640.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	64.00	\$450.00	\$28,800.00	\$600.00	\$38,400.00	\$500.00	\$32,000.00
604.72	GRATES & FRAMES, TYPE B	EA	19.00	\$600.00	\$11,400.00	\$750.00	\$14,250.00	\$850.00	\$16,150.00
606.0001	STEEL BEAM FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	213.00	\$13.50	\$2,875.50	\$24.25	\$5,165.25	\$22.00	\$4,686.00



TROY-SWANZEY/BROOKLINE-MILFORD

43063

					PS&E	1 CONTIN	TAL PAVING INC IENTAL DRIVE ERRY, NH 03053	ALL STATES CONSTRUCTION PO BOX 91 SUNDERLAND, MA 01375	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
606.012	W6X9 STEEL POST REPLACEMENTS FOR BEAM GUARDRAIL POSTS	EA	36.00	\$65.00	\$2,340.00	\$148.50	\$5,346.00	\$135.00	\$4,860.00
606.0122	W6X9 STEEL POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	48.00	\$16.00	\$768.00	\$27.50	\$1,320.00	\$25.00	\$1,200.00
606.1253	BEAM GUARDRAIL (TERMINAL UNIT TYPE MFLEAT, TL 3)	U	1.00	\$3,000.00	\$3,000.00	\$4,840.00	\$4,840.00	\$4,400.00	\$4,400.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	46.00	\$3,000.00	\$138,000.00	\$4,290.00	\$197,340.00	\$3,900.00	\$179,400.00
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	21.00	\$3,000.00	\$63,000.00	\$4,290.00	\$90,090.00	\$3,900.00	\$81,900.00
606.12551	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2 - 25') (STEEL POST)	U	4.00	\$2,750.00	\$11,000.00	\$5,485.00	\$21,940.00	\$4,985.00	\$19,940.00
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	4.00	\$850.00	\$3,400.00	\$1,540.00	\$6,160.00	\$1,400.00	\$5,600.00
606.141	BEAM GUARDRAIL (CURVED W/CRT POSTS)	LF	17.00	\$30.00	\$510.00	\$44.00	\$748.00	\$40.00	\$680.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	3,270.00	\$25.00	\$81,750.00	\$37.50	\$122,625.00	\$34.00	\$111,180.00
606.34201	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, LEFT (STEEL POST)	U	6.00	\$1,100.00	\$6,600.00	\$1,320.00	\$7,920.00	\$1,200.00	\$7,200.00
606.34202	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, RIGHT (STEEL POST)	U	8.00	\$1,100.00	\$8,800.00	\$1,320.00	\$10,560.00	\$1,200.00	\$9,600.00
606.91	RESETTING OR SETTING GUARDRAIL	LF	120.00	\$20.00	\$2,400.00	\$22.00	\$2,640.00	\$20.00	\$2,400.00
606.9147	RESETTING TERMINAL UNIT (TYPE G-2)	U	2.00	\$250.00	\$500.00	\$800.00	\$1,600.00	\$725.00	\$1,450.00
606.915	RESETTING GUARDRAIL, BLOCK AND RAIL ONLY	LF	12,400.00	\$6.25	\$77,500.00	\$12.75	\$158,100.00	\$11.50	\$142,600.00
608.2401	4" CONCRETE SIDEWALK	SY	64.00	\$75.00	\$4,800.00	\$100.00	\$6,400.00	\$115.00	\$7,360.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	11.00	\$450.00	\$4,950.00	\$500.00	\$5,500.00	\$500.00	\$5,500.00
609.01	STRAIGHT GRANITE CURB	LF	35.00	\$50.00	\$1,750.00	\$50.00	\$1,750.00	\$165.00	\$5,775.00
609.5	RESET GRANITE CURB	LF	1,650.00	\$15.00	\$24,750.00	\$15.00	\$24,750.00	\$55.00	\$90,750.00
615.0201	TRAFFIC SIGN TYPE B	SF	40.75	\$50.00	\$2,037.50	\$81.50	\$3,321.13	\$100.00	\$4,075.00
615.02201	TRAFFIC SIGN TYPE B, BREAKAWAY MOUNTS	SF	98.00	\$125.00	\$12,250.00	\$206.00	\$20,188.00	\$220.00	\$21,560.00
615.023	REMOVING TRAFFIC SIGN TYPE B	U	13.00	\$125.00	\$1,625.00	\$1,000.00	\$13,000.00	\$50.00	\$650.00
615.0301	TRAFFIC SIGN TYPE C	SF	170.50	\$45.00	\$7,672.50	\$57.00	\$9,718.50	\$45.00	\$7,672.50
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	22.00	\$45.00	\$990.00	\$500.00	\$11,000.00	\$20.00	\$440.00
615.0501	TRAFFIC SIGN TYPE BB	SF	52.25	\$25.00	\$1,306.25	\$33.50	\$1,750.38	\$20.00	\$1,045.00
615.053	REMOVING TRAFFIC SIGN TYPE BB	U	2.00	\$50.00	\$100.00	\$500.00	\$1,000.00	\$10.00	\$20.00



TROY-SWANZEY/BROOKLINE-MILFORD

43063

X-A005(030)

					PS&E	1 CONTIN	TAL PAVING INC IENTAL DRIVE ERRY, NH 03053	PO	CONSTRUCTION INC BOX 91 AND, MA 01375
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
615.0601	TRAFFIC SIGN TYPE CC	SF	81.32	\$20.00	\$1,626.40	\$21.00	\$1,707.72	\$15.00	\$1,219.80
615.063	REMOVING TRAFFIC SIGN TYPE CC	U	1.00	\$15.00	\$15.00	\$500.00	\$500.00	\$10.00	\$10.00
616.620	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 20 FT	EA	5.00	\$850.00	\$4,250.00	\$1,100.00	\$5,500.00	\$1,000.00	\$5,000.00
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	6.00	\$1,200.00	\$7,200.00	\$1,210.00	\$7,260.00	\$1,250.00	\$7,500.00
616.95	INSTALL TRAFFIC STUDY EQUIPMENT	U	2.00	\$7,000.00	\$14,000.00	\$5,225.00	\$10,450.00	\$5,250.00	\$10,500.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	157,500.00	\$1.00	\$157,500.00	\$1.00	\$157,500.00	\$1.00	\$157,500.00
618.7	FLAGGERS	HR	2,000.00	\$35.00	\$70,000.00	\$50.00	\$100,000.00	\$48.00	\$96,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$180,000.00	\$180,000.00	\$150,000.00	\$150,000.00	\$170,000.00	\$170,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	6.00	\$4,500.00	\$27,000.00	\$2,500.00	\$15,000.00	\$3,000.00	\$18,000.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$12,500.00	\$25,000.00	\$10,000.00	\$20,000.00	\$3,600.00	\$7,200.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	89.00	\$5.25	\$467.25	\$8.25	\$734.25	\$7.00	\$623.00
621.31	SINGLE DELINEATOR WITH POST	EA	181.00	\$45.00	\$8,145.00	\$53.00	\$9,593.00	\$60.00	\$10,860.00
621.32	DOUBLE DELINEATOR WITH POST	EA	38.00	\$50.00	\$1,900.00	\$58.00	\$2,204.00	\$60.00	\$2,280.00
628.1	SAWED CONCRETE PAVEMENT	LF	36.00	\$7.75	\$279.00	\$10.00	\$360.00	\$20.00	\$720.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	1,700.00	\$2.75	\$4,675.00	\$5.00	\$8,500.00	\$12.00	\$20,400.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	563,513.00	\$0.15	\$84,526.95	\$0.19	\$107,067.47	\$0.25	\$140,878.25
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	3,037.00	\$1.25	\$3,796.25	\$3.00	\$9,111.00	\$2.00	\$6,074.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	261.00	\$4.75	\$1,239.75	\$10.00	\$2,610.00	\$7.85	\$2,048.85
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4"	LF	1,431.00	\$1.10	\$1,574.10	\$1.10	\$1,574.10	\$0.65	\$930.15
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	276.00	\$2.00	\$552.00	\$3.35	\$924.60	\$1.15	\$317.40
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	184.00	\$4.25	\$782.00	\$6.70	\$1,232.80	\$4.65	\$855.60
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	261.00	\$6.00	\$1,566.00	\$17.25	\$4,502.25	\$6.90	\$1,800.90
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	17.00	\$10.00	\$170.00	\$55.50	\$943.50	\$6.65	\$113.05
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	608.00	\$0.35	\$212.80	\$3.35	\$2,036.80	\$0.45	\$273.60
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	26.00	\$4.50	\$117.00	\$6.00	\$156.00	\$1.35	\$35.10
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	88.00	\$2.75	\$242.00	\$6.00	\$528.00	\$1.35	\$118.80

Thursday, November 18, 2021





43063

					PS&E	1 CONTIN	TAL PAVING INC VENTAL DRIVE ERRY, NH 03053	ALL STATES CONSTRUCTION INC PO BOX 91 SUNDERLAND, MA 01375	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	2,000.00	\$5.25	\$10,500.00	\$8.00	\$16,000.00	\$6.00	\$12,000.00
645.531	SILT FENCE	LF	2,000.00	\$3.40	\$6,800.00	\$3.50	\$7,000.00	\$5.00	\$10,000.00
645.611	BONDED FIBER MATRIX (BFM)	LB	1,500.00	\$2.00	\$3,000.00	\$2.50	\$3,750.00	\$2.75	\$4,125.00
646.21	TURF ESTABLISHMENT WITHOUT MULCH	SY	2,000.00	\$2.00	\$4,000.00	\$2.50	\$5,000.00	\$1.00	\$2,000.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	180.00	\$20.00	\$3,600.00	\$25.00	\$4,500.00	\$50.00	\$9,000.00
670.0661	MULTIPLE MAILBOXES SUPPORT ASSEMBLIES	EA	5.00	\$360.00	\$1,800.00	\$1,500.00	\$7,500.00	\$120.00	\$600.00
692.	MOBILIZATION	U	1.00	\$208,950.00	\$208,950.00	\$200,000.00	\$200,000.00	\$235,000.00	\$235,000.00
698.12	FIELD OFFICE TYPE B	MON	9.00	\$1,600.00	\$14,400.00	\$2,500.00	\$22,500.00	\$2,500.00	\$22,500.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	40,300.00	\$1.00	\$40,300.00	\$1.00	\$40,300.00	\$1.00	\$40,300.00
			Totals:		\$3,528,456.25		\$3,954,653.75	Ì	\$4,304,747.00
			Alt. Totals:						
			Totals:		\$3.528.456.25	1	\$3.954.653.75		\$4,304,747.00



TROY-SWANZEY/BROOKLINE-MILFORD

43063

X-A005(030)

				F	°S&E	216 MOUNT HER	ANTIC COAST LLC MON STATION ROAD LLD, MA 01360		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

202.7	REMOVAL OF GUARDRAIL	LF	6,000.00	\$2.40	\$14,400.00	\$2.55	\$15,300.00	
203.5540	GUARDRAIL TAPERED RAIL PLATFORM	LF	130.00	\$50.00	\$6,500.00	\$70.00	\$9,100.00	
203.5561	EAGRT PLATFORM PREFERRED	U	67.00	\$1,350.00	\$90,450.00	\$1,100.00	\$73,700.00	
203.5571	EAGRT PLATFORM PREFERRED, TL 2 - 25'	U	4.00	\$1,500.00	\$6,000.00	\$1,800.00	\$7,200.00	
206.1	COMMON STRUCTURE EXCAVATION	СҮ	129.00	\$80.00	\$10,320.00	\$60.00	\$7,740.00	
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	СҮ	5.00	\$80.00	\$400.00	\$200.00	\$1,000.00	
304.301	CRUSHED GRAVEL	СҮ	50.00	\$70.00	\$3,500.00	\$100.00	\$5,000.00	
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	2,690.00	\$25.00	\$67,250.00	\$50.00	\$134,500.00	
403.11023	HBP-3/4" BINDER MIX, MACHINE METHOD	TON	870.00	\$75.00	\$65,250.00	\$81.00	\$70,470.00	
403.11042	HBP-1/2" SURFACE MIX, MACHINE METHOD, QC/QA TIER 2	TON	9,200.00	\$70.00	\$644,000.00	\$83.00	\$763,600.00	
403.11942	HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH, QC/QA TIER 2	TON	1,800.00	\$90.00	\$162,000.00	\$95.00	\$171,000.00	
403.12	HBP-HAND METHOD	TON	333.00	\$170.00	\$56,610.00	\$200.00	\$66,600.00	
403.16	PAVEMENT JOINT ADHESIVE	LF	93,100.00	\$0.25	\$23,275.00	\$0.25	\$23,275.00	
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	11,000.00	\$2.15	\$23,650.00	\$4.50	\$49,500.00	
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	14,000.00	\$4.40	\$61,600.00	\$5.25	\$73,500.00	
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	7,300.00	\$80.00	\$584,000.00	\$115.00	\$839,500.00	
417.	COLD PLANING BITUMINOUS SURFACES	SY	41,000.00	\$2.25	\$92,250.00	\$3.00	\$123,000.00	
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	7,300.00	\$2.50	\$18,250.00	\$10.00	\$73,000.00	
417.54	REMOVE AND INLAY LONGITUDINAL CRACKS	LF	5,300.00	\$8.50	\$45,050.00	\$7.95	\$42,135.00	
604.0007	POLYETHYLENE LINER	EA	64.00	\$135.00	\$8,640.00	\$150.00	\$9,600.00	
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	64.00	\$450.00	\$28,800.00	\$700.00	\$44,800.00	
604.72	GRATES & FRAMES, TYPE B	EA	19.00	\$600.00	\$11,400.00	\$650.00	\$12,350.00	
606.0001	STEEL BEAM FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	213.00	\$13.50	\$2,875.50	\$23.00	\$4,899.00	



TROY-SWANZEY/BROOKLINE-MILFORD

43063

				PS&E		216 MOUNT HER	ANTIC COAST LLC MON STATION ROAD ELD, MA 01360		_
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
606.012	W6X9 STEEL POST REPLACEMENTS FOR BEAM GUARDRAIL POSTS	EA	36.00	\$65.00	\$2,340.00	\$137.00	\$4,932.00		
606.0122	W6X9 STEEL POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	48.00	\$16.00	\$768.00	\$26.00	\$1,248.00		
606.1253	BEAM GUARDRAIL (TERMINAL UNIT TYPE MFLEAT, TL 3)	U	1.00	\$3,000.00	\$3,000.00	\$4,450.00	\$4,450.00		
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	46.00	\$3,000.00	\$138,000.00	\$3,950.00	\$181,700.00		
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	21.00	\$3,000.00	\$63,000.00	\$3,950.00	\$82,950.00		
606.12551	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2 - 25') (STEEL POST)	U	4.00	\$2,750.00	\$11,000.00	\$5,000.00	\$20,000.00		
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	4.00	\$850.00	\$3,400.00	\$1,500.00	\$6,000.00		
606.141	BEAM GUARDRAIL (CURVED W/CRT POSTS)	LF	17.00	\$30.00	\$510.00	\$42.00	\$714.00		
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	3,270.00	\$25.00	\$81,750.00	\$33.00	\$107,910.00		
606.34201	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, LEFT (STEEL POST)	U	6.00	\$1,100.00	\$6,600.00	\$1,300.00	\$7,800.00		
606.34202	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, RIGHT (STEEL POST)	U	8.00	\$1,100.00	\$8,800.00	\$1,300.00	\$10,400.00		
606.91	RESETTING OR SETTING GUARDRAIL	LF	120.00	\$20.00	\$2,400.00	\$22.00	\$2,640.00		
606.9147	RESETTING TERMINAL UNIT (TYPE G-2)	U	2.00	\$250.00	\$500.00	\$730.00	\$1,460.00		
606.915	RESETTING GUARDRAIL, BLOCK AND RAIL ONLY	LF	12,400.00	\$6.25	\$77,500.00	\$11.50	\$142,600.00		
608.2401	4" CONCRETE SIDEWALK	SY	64.00	\$75.00	\$4,800.00	\$165.00	\$10,560.00		
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	11.00	\$450.00	\$4,950.00	\$500.00	\$5,500.00		
609.01	STRAIGHT GRANITE CURB	LF	35.00	\$50.00	\$1,750.00	\$125.00	\$4,375.00		
609.5	RESET GRANITE CURB	LF	1,650.00	\$15.00	\$24,750.00	\$60.00	\$99,000.00		
615.0201	TRAFFIC SIGN TYPE B	SF	40.75	\$50.00	\$2,037.50	\$100.00	\$4,075.00		
615.02201	TRAFFIC SIGN TYPE B, BREAKAWAY MOUNTS	SF	98.00	\$125.00	\$12,250.00	\$222.00	\$21,756.00		
615.023	REMOVING TRAFFIC SIGN TYPE B	U	13.00	\$125.00	\$1,625.00	\$51.00	\$663.00		
615.0301	TRAFFIC SIGN TYPE C	SF	170.50	\$45.00	\$7,672.50	\$44.00	\$7,502.00		
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	22.00	\$45.00	\$990.00	\$21.00	\$462.00		
615.0501	TRAFFIC SIGN TYPE BB	SF	52.25	\$25.00	\$1,306.25	\$17.00	\$888.25		
615.053	REMOVING TRAFFIC SIGN TYPE BB	U	2.00	\$50.00	\$100.00	\$11.00	\$22.00		



TROY-SWANZEY/BROOKLINE-MILFORD

43063

				PS&E		216 MOUNT HER NORTHFII	ANTIC COAST LLC MON STATION ROAD ELD, MA 01360		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
615.0601	TRAFFIC SIGN TYPE CC	SF	81.32	\$20.00	\$1,626.40	\$17.20	\$1,398.70		
615.063	REMOVING TRAFFIC SIGN TYPE CC	U	1.00	\$15.00	\$15.00	\$11.00	\$11.00		
616.620	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 20 FT	EA	5.00	\$850.00	\$4,250.00	\$600.00	\$3,000.00		
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	6.00	\$1,200.00	\$7,200.00	\$900.00	\$5,400.00		
616.95	INSTALL TRAFFIC STUDY EQUIPMENT	U	2.00	\$7,000.00	\$14,000.00	\$2,800.00	\$5,600.00		
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	157,500.00	\$1.00	\$157,500.00	\$1.00	\$157,500.00		
618.7	FLAGGERS	HR	2,000.00	\$35.00	\$70,000.00	\$43.00	\$86,000.00		
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$180,000.00	\$180,000.00	\$160,000.00	\$160,000.00		
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	6.00	\$4,500.00	\$27,000.00	\$3,200.00	\$19,200.00		
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$12,500.00	\$25,000.00	\$9,200.00	\$18,400.00		
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	89.00	\$5.25	\$467.25	\$8.00	\$712.00		
621.31	SINGLE DELINEATOR WITH POST	EA	181.00	\$45.00	\$8,145.00	\$59.00	\$10,679.00		
621.32	DOUBLE DELINEATOR WITH POST	EA	38.00	\$50.00	\$1,900.00	\$57.00	\$2,166.00		
628.1	SAWED CONCRETE PAVEMENT	LF	36.00	\$7.75	\$279.00	\$30.00	\$1,080.00		
628.2	SAWED BITUMINOUS PAVEMENT	LF	1,700.00	\$2.75	\$4,675.00	\$1.10	\$1,870.00		
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	563,513.00	\$0.15	\$84,526.95	\$0.20	\$112,702.60		
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	3,037.00	\$1.25	\$3,796.25	\$2.30	\$6,985.10		
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	261.00	\$4.75	\$1,239.75	\$10.40	\$2,714.40		
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4"	LF	1,431.00	\$1.10	\$1,574.10	\$1.20	\$1,717.20		
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	276.00	\$2.00	\$552.00	\$3.50	\$966.00		
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	184.00	\$4.25	\$782.00	\$6.90	\$1,269.60		
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	261.00	\$6.00	\$1,566.00	\$17.50	\$4,567.50		
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	17.00	\$10.00	\$170.00	\$58.00	\$986.00		
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	608.00	\$0.35	\$212.80	\$3.50	\$2,128.00		
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	26.00	\$4.50	\$117.00	\$5.75	\$149.50		
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	88.00	\$2.75	\$242.00	\$5.00	\$440.00		



TROY-SWANZEY/BROOKLINE-MILFORD

43063

					PS&E	216 MOUNT HER	ANTIC COAST LLC MON STATION ROAD ELD, MA 01360		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	2,000.00	\$5.25	\$10,500.00	\$5.65	\$11,300.00		
645.531	SILT FENCE	LF	2,000.00	\$3.40	\$6,800.00	\$6.65	\$13,300.00		
645.611	BONDED FIBER MATRIX (BFM)	LB	1,500.00	\$2.00	\$3,000.00	\$1.20	\$1,800.00		
646.21	TURF ESTABLISHMENT WITHOUT MULCH	SY	2,000.00	\$2.00	\$4,000.00	\$2.75	\$5,500.00		
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	180.00	\$20.00	\$3,600.00	\$30.00	\$5,400.00		
670.0661	MULTIPLE MAILBOXES SUPPORT ASSEMBLIES	EA	5.00	\$360.00	\$1,800.00	\$325.00	\$1,625.00		
692.	MOBILIZATION	U	1.00	\$208,950.00	\$208,950.00	\$275,000.00	\$275,000.00		
698.12	FIELD OFFICE TYPE B	MON	9.00	\$1,600.00	\$14,400.00	\$3,000.00	\$27,000.00		
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00		
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00		
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00		
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00		
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	40,300.00	\$1.00	\$40,300.00	\$1.00	\$40,300.00		
			Totals:		\$3,528,456.25		5 \$4,489,243.85		
			Alt. Totals:						
			Totals:		\$3,528,456.25		\$4,489,243.85		



43063

			_	A-Bide	der	PS&	&E	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
		<u> </u>						
202.7	REMOVAL OF GUARDRAIL	LF	6,000.00	\$4.75	\$28,500.00	\$2.40	\$14,400.00	\$14,100.00
203.5540	GUARDRAIL TAPERED RAIL PLATFORM	LF	130.00	\$85.00	\$11,050.00	\$50.00	\$6,500.00	\$4,550.00
203.5561	EAGRT PLATFORM PREFERRED	U	67.00	\$1,400.00	\$93,800.00	\$1,350.00	\$90,450.00	\$3,350.00
203.5571	EAGRT PLATFORM PREFERRED, TL 2 - 25'	U	4.00	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000.00	\$0.00
206.1	COMMON STRUCTURE EXCAVATION	СҮ	129.00	\$100.00	\$12,900.00	\$80.00	\$10,320.00	\$2,580.00
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	5.00	\$500.00	\$2,500.00	\$80.00	\$400.00	\$2,100.00
304.301	CRUSHED GRAVEL	CY	50.00	\$50.00	\$2,500.00	\$70.00	\$3,500.00	(\$1,000.00)
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	2,690.00	\$25.00	\$67,250.00	\$25.00	\$67,250.00	\$0.00
403.11023	HBP-3/4" BINDER MIX, MACHINE METHOD	TON	870.00	\$80.00	\$69,600.00	\$75.00	\$65,250.00	\$4,350.00
403.11042	HBP-1/2" SURFACE MIX, MACHINE METHOD, QC/QA TIER 2	TON	9,200.00	\$80.00	\$736,000.00	\$70.00	\$644,000.00	\$92,000.00
403.11942	HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH, QC/QA TIER 2	TON	1,800.00	\$90.00	\$162,000.00	\$90.00	\$162,000.00	\$0.00
403.12	HBP-HAND METHOD	TON	333.00	\$130.00	\$43,290.00	\$170.00	\$56,610.00	(\$13,320.00)
403.16	PAVEMENT JOINT ADHESIVE	LF	93,100.00	\$0.26	\$24,206.00	\$0.25	\$23,275.00	\$931.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	11,000.00	\$2.50	\$27,500.00	\$2.15	\$23,650.00	\$3,850.00



43063

				A-Bidder		PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	14,000.00	\$5.00	\$70,000.00	\$4.40	\$61,600.00	\$8,400.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	7,300.00	\$80.00	\$584,000.00	\$80.00	\$584,000.00	\$0.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	41,000.00	\$2.50	\$102,500.00	\$2.25	\$92,250.00	\$10,250.00
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	7,300.00	\$2.00	\$14,600.00	\$2.50	\$18,250.00	(\$3,650.00)
417.54	REMOVE AND INLAY LONGITUDINAL CRACKS	LF	5,300.00	\$4.50	\$23,850.00	\$8.50	\$45,050.00	(\$21,200.00)
604.0007	POLYETHYLENE LINER	EA	64.00	\$135.00	\$8,640.00	\$135.00	\$8,640.00	\$0.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	64.00	\$600.00	\$38,400.00	\$450.00	\$28,800.00	\$9,600.00
604.72	GRATES & FRAMES, TYPE B	EA	19.00	\$750.00	\$14,250.00	\$600.00	\$11,400.00	\$2,850.00
606.0001	STEEL BEAM FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	213.00	\$24.25	\$5,165.25	\$13.50	\$2,875.50	\$2,289.75
606.012	W6X9 STEEL POST REPLACEMENTS FOR BEAM GUARDRAIL POSTS	EA	36.00	\$148.50	\$5,346.00	\$65.00	\$2,340.00	\$3,006.00
606.0122	W6X9 STEEL POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	48.00	\$27.50	\$1,320.00	\$16.00	\$768.00	\$552.00
606.1253	BEAM GUARDRAIL (TERMINAL UNIT TYPE MFLEAT, TL 3)	U	1.00	\$4,840.00	\$4,840.00	\$3,000.00	\$3,000.00	\$1,840.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	46.00	\$4,290.00	\$197,340.00	\$3,000.00	\$138,000.00	\$59,340.00
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	21.00	\$4,290.00	\$90,090.00	\$3,000.00	\$63,000.00	\$27,090.00



43063

				A-Bidder		PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
606.12551	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2 - 25') (STEEL POST)	U	4.00	\$5,485.00	\$21,940.00	\$2,750.00	\$11,000.00	\$10,940.00
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	4.00	\$1,540.00	\$6,160.00	\$850.00	\$3,400.00	\$2,760.00
606.141	BEAM GUARDRAIL (CURVED W/CRT POSTS)	LF	17.00	\$44.00	\$748.00	\$30.00	\$510.00	\$238.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	3,270.00	\$37.50	\$122,625.00	\$25.00	\$81,750.00	\$40,875.00
606.34201	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, LEFT (STEEL POST)	U	6.00	\$1,320.00	\$7,920.00	\$1,100.00	\$6,600.00	\$1,320.00
606.34202	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, RIGHT (STEEL POST)	U	8.00	\$1,320.00	\$10,560.00	\$1,100.00	\$8,800.00	\$1,760.00
606.91	RESETTING OR SETTING GUARDRAIL	LF	120.00	\$22.00	\$2,640.00	\$20.00	\$2,400.00	\$240.00
606.9147	RESETTING TERMINAL UNIT (TYPE G-2)	U	2.00	\$800.00	\$1,600.00	\$250.00	\$500.00	\$1,100.00
606.915	RESETTING GUARDRAIL, BLOCK AND RAIL ONLY	LF	12,400.00	\$12.75	\$158,100.00	\$6.25	\$77,500.00	\$80,600.00
608.2401	4" CONCRETE SIDEWALK	SY	64.00	\$100.00	\$6,400.00	\$75.00	\$4,800.00	\$1,600.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	11.00	\$500.00	\$5,500.00	\$450.00	\$4,950.00	\$550.00
609.01	STRAIGHT GRANITE CURB	LF	35.00	\$50.00	\$1,750.00	\$50.00	\$1,750.00	\$0.00
609.5	RESET GRANITE CURB	LF	1,650.00	\$15.00	\$24,750.00	\$15.00	\$24,750.00	\$0.00
615.0201	TRAFFIC SIGN TYPE B	SF	40.75	\$81.50	\$3,321.13	\$50.00	\$2,037.50	\$1,283.63
615.02201	TRAFFIC SIGN TYPE B, BREAKAWAY MOUNTS	SF	98.00	\$206.00	\$20,188.00	\$125.00	\$12,250.00	\$7,938.00
615.023	REMOVING TRAFFIC SIGN TYPE B	U	13.00	\$1,000.00	\$13,000.00	\$125.00	\$1,625.00	\$11,375.00



43063

				A-Bidder		PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
615.0301	TRAFFIC SIGN TYPE C	SF	170.50	\$57.00	\$9,718.50	\$45.00	\$7,672.50	\$2,046.00
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	22.00	\$500.00	\$11,000.00	\$45.00	\$990.00	\$10,010.00
615.0501	TRAFFIC SIGN TYPE BB	SF	52.25	\$33.50	\$1,750.38	\$25.00	\$1,306.25	\$444.13
615.053	REMOVING TRAFFIC SIGN TYPE BB	U	2.00	\$500.00	\$1,000.00	\$50.00	\$100.00	\$900.00
615.0601	TRAFFIC SIGN TYPE CC	SF	81.32	\$21.00	\$1,707.72	\$20.00	\$1,626.40	\$81.32
615.063	REMOVING TRAFFIC SIGN TYPE CC	U	1.00	\$500.00	\$500.00	\$15.00	\$15.00	\$485.00
616.620	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 20 FT	EA	5.00	\$1,100.00	\$5,500.00	\$850.00	\$4,250.00	\$1,250.00
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	6.00	\$1,210.00	\$7,260.00	\$1,200.00	\$7,200.00	\$60.00
616.95	INSTALL TRAFFIC STUDY EQUIPMENT	U	2.00	\$5,225.00	\$10,450.00	\$7,000.00	\$14,000.00	(\$3,550.00)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	157,500.00	\$1.00	\$157,500.00	\$1.00	\$157,500.00	\$0.00
618.7	FLAGGERS	HR	2,000.00	\$50.00	\$100,000.00	\$35.00	\$70,000.00	\$30,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$150,000.00	\$150,000.00	\$180,000.00	\$180,000.00	(\$30,000.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	6.00	\$2,500.00	\$15,000.00	\$4,500.00	\$27,000.00	(\$12,000.00)
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$10,000.00	\$20,000.00	\$12,500.00	\$25,000.00	(\$5,000.00)
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	89.00	\$8.25	\$734.25	\$5.25	\$467.25	\$267.00
621.31	SINGLE DELINEATOR WITH POST	EA	181.00	\$53.00	\$9,593.00	\$45.00	\$8,145.00	\$1,448.00
621.32	DOUBLE DELINEATOR WITH POST	EA	38.00	\$58.00	\$2,204.00	\$50.00	\$1,900.00	\$304.00



43063

				A-Bidder		PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
628.1	SAWED CONCRETE PAVEMENT	LF	36.00	\$10.00	\$360.00	\$7.75	\$279.00	\$81.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	1,700.00	\$5.00	\$8,500.00	\$2.75	\$4,675.00	\$3,825.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	563,513.00	\$0.19	\$107,067.47	\$0.15	\$84,526.95	\$22,540.52
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE		3,037.00	\$3.00	\$9,111.00	\$1.25	\$3,796.25	\$5,314.75
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	261.00	\$10.00	\$2,610.00	\$4.75	\$1,239.75	\$1,370.25
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	1,431.00	\$1.10	\$1,574.10	\$1.10	\$1,574.10	\$0.00
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	276.00	\$3.35	\$924.60	\$2.00	\$552.00	\$372.60
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	184.00	\$6.70	\$1,232.80	\$4.25	\$782.00	\$450.80
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	261.00	\$17.25	\$4,502.25	\$6.00	\$1,566.00	\$2,936.25
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	17.00	\$55.50	\$943.50	\$10.00	\$170.00	\$773.50
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	608.00	\$3.35	\$2,036.80	\$0.35	\$212.80	\$1,824.00
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	26.00	\$6.00	\$156.00	\$4.50	\$117.00	\$39.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	88.00	\$6.00	\$528.00	\$2.75	\$242.00	\$286.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	2,000.00	\$8.00	\$16,000.00	\$5.25	\$10,500.00	\$5,500.00
645.531	SILT FENCE	LF	2,000.00	\$3.50	\$7,000.00	\$3.40	\$6,800.00	\$200.00



43063

X-A005(030)

				A-Bidder		PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
645.611	BONDED FIBER MATRIX (BFM)	LB	1,500.00	\$2.50	\$3,750.00	\$2.00	\$3,000.00	\$750.00
646.21	TURF ESTABLISHMENT WITHOUT MULCH	SY	2,000.00	\$2.50	\$5,000.00	\$2.00	\$4,000.00	\$1,000.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	180.00	\$25.00	\$4,500.00	\$20.00	\$3,600.00	\$900.00
670.0661	MULTIPLE MAILBOXES SUPPORT ASSEMBLIES	EA	5.00	\$1,500.00	\$7,500.00	\$360.00	\$1,800.00	\$5,700.00
692.	MOBILIZATION	U	1.00	\$200,000.00	\$200,000.00	\$208,950.00	\$208,950.00	(\$8,950.00)
698.12	FIELD OFFICE TYPE B	MON	9.00	\$2,500.00	\$22,500.00	\$1,600.00	\$14,400.00	\$8,100.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$0.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	40,300.00	\$1.00	\$40,300.00	\$1.00	\$40,300.00	\$0.00

Total:

\$3,954,653.75

\$426,197.50

\$3,528,456.25